
ATLAS SCT Module Response Curve  -  ABCD2T  -  Polynomial fit

Run 1493   Scans 12 - 37   Charges 2.00 - 8.00 fC   Module 0   Stream 1
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Response Curve chip 0 p0       = 109.8 +- 7.317 

p1       = 49.33 +-  3.62 

p2       = -0.9492 +- 0.3919 

Response Curve chip 0 p0       = 109.8 +- 7.317 

p1       = 49.33 +-  3.62 

p2       = -0.9492 +- 0.3919 

Q (fC)
0 1 2 3 4 5 6 7 8

R
es

po
ns

e 
(m

V
)

0

100

200

300

400

500

600

Response Curve chip 1 p0       = 107.2 +-  8.61 

p1       = 49.44 +- 4.381 

p2       = -1.048 +- 0.487 
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Response Curve chip 2 p0       = 93.04 +- 7.405 

p1       = 56.56 +- 3.532 

p2       = -1.168 +- 0.3704 
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Response Curve chip 3 p0       = 101.4 +- 7.141 

p1       = 51.94 +- 3.646 

p2       = -0.7721 +- 0.4004 
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Response Curve chip 4 p0       = 80.24 +- 9.353 

p1       = 62.48 +- 4.655 

p2       = -1.342 +- 0.505 
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Response Curve chip 5 p0       = 98.15 +- 8.075 

p1       = 53.26 +- 4.125 

p2       = -1.148 +- 0.4531 
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